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INSTRUCTIONS TO CANDIDATES
Iype your name, schoal and index number g1 the fep right hand corner
of each printouf.

15}

rife Your name and index number on the CD / removable siorage medimn
vrovided

Write the name ond version of the software used for each quesiion ateripled in
the answer sheet provided '

dnswer alf questions

All questions carrv equal marks .

Passwords should not be ysed while saving on the CD 7 removable

storage medium

Make printout of the answers on answer sheets

Hand in all the printouts and the CI) / reinovable storage medium
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e fotiowing data is an extract of data obuained ’b@ 1 Chai company vecords, Study the

data "nd answer the qricqtfonq that follow 9\Q

i,

1

{

i

i

1

:

Ngnriareny’ ;

e = s - S e e ]

e data shown in the table above inio a spreadsheet giving it an appropriate title which i
cen 'rcd and bolded across the workshest.

1) Save the workbook as CHATQOL

i 1;: 1 Bename the worksheet as June records. (10 marks

'I"l’e data to a now worksheet and add the details of producer James Kirega of ares 10} B

1 452 with quantity of produce of 2, 700kg in an appropriate row, iln
vt R s o fa Shadcnd [0, arks’
¢y Insert borders after every cell and every row. {£ marks?

-

¢ a function to calculate the gross pay for the producer with id number 115 given that ih priv
per Ko of the produce 1s 5h.41 .00 {

o) Usze the formula for gross pay obtained for producer John Kamau to calculate the gross pay for all

s

(8
- the farmers {2 m

b i function to ealeulate transport cost for all the producers given that transport is charged po
i as follows, {0 me
AREA | | Priceperke
i01B - 5.00 -
207 =1 o 3.50 R
= e S ——

oy Trigert the value 20% in cell Ei4. Using absolute cell referencing caleulate;
i i:= ductions given thal the deduction iz 20% of the cost, |

by Using a function calculate the net pay given that Net pay is Gross pay-deductions o
*mf*t nsport cost. {dmarks)

i) Format the columns containing currency values to currency with 2 decimal p laces and prefix Ksh.

Rename the worksheet PRODUCE PAY and save it as CHAI 602 (3 marks)
: 2 : 1 Y 4L
i) Arrange the records in ascending order of the producer id. (2 marks}



N

)
o
: ; >
- suitable lilh e '.'.‘-w.'.h‘u.u,m_ display repds for all producers except those from area
3 KQ {4 marks)

S
2 ) Q
itals function (o caloulate aubly 1@& for the quantity debivercd, gross pav and o

SARES the total quantity of produce delivered for pach area the

:hBit Cempde
_ qf’

sed should ©

ot S §

rondd

rging (o Hhnm €047

he publication to be 5- thrae columns measuring 83Smm, 84mm and 9Jmun respag

v+ Get the space between columns o mm

.."-,‘. in Lr]—w fexi as rhﬁx‘_w_?p i ‘:'-i‘.“iu_i_i_-”-ﬁ': 1 E.;;(j ‘{ |n ”1_[.:
vour work as SAMPLE 1

samnle provided.
s 1)

{& maries)

in colnmn (title pane), format the various items as follows:
el the transparency of the fill colow to ] 25% {7 marks?
th Rwh! and italicize the mission ¢

ment heading (2 marks}
i7e and centre the "nnssion statement”

i1 (2 marks)
""E Set the vertical aligniment of the text box hearing the words ™ 7
You" to middle {2 mark)
v} Apply blue and green fill to stars on your left and right respectively as shown in the sample
{3 marks)
i} Place the clipart and word art appropriately as shown i cofumn 3 of the SAMPLE 1.
' (4 m rarks)
vit} Save your work as SAMPLE 2 (1 mark)

) By column | (Liaison offices). format the fexi as follows:

) Apply shadow to the title Lla‘ son Offices and set the font size to 20 (2 marks)

i"? Apply double undetline to each of the telephone numbers (2 marks)
iii) Get the colour of the names of the buildings to blue {2 marks)
~iv) Insert the footer: Registration and enquiries at our head ofjice (1 mark_)
"»'}' Apply blue outline to the textbox bearing the title Liaisen Gifices (1 mark)

=) Create a mailing coupon as it appears in columnn 2. {2 marks)
£y Format the mailing coupon as follows: . N \.
i) Bolden and centre the address as shown in the s sample ' {2 marks}

i) Deaw and enter Place stamp here caption at the top right corney (2 marks)
ii1) Save your work as sample i (1 mark}

Print SAMPE-1. SAMPLE-2 AND SAMPLiz-3 (3 marks)
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TION B (p@iarks

S¥

6 and ankSker three guestions from
ion in il@’é’ SpAces provided,
<

i
.
]
F

<
:»“-:Z;r'.'-..u'i:.;a.:'e‘n_it'é}@lf 1 flowchart, which
&

> go {3 marks)
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B Study the following Aow chart very carefully.

‘What output would vou expect if the following data was input inte the flowehart 7 (3 marks)

X Output '
-150

{

¢} A hospital has g leeal area netwvork that links all the departments in the hospital,

State what is meant by term local area network (LAMN) {2 maris)

=

i) State three purposes the LAN might be used by a hespital doctor. (3 marks

B} The hospital is linked to other hospitals in the region by a wide area network.
i) State what is meant by the term wide area network (WAN) {7 marks)



o P, B
Or. {5 Narks)

N anet i

19 1e0aid DYGLe Lo e

=4 4 hospital might use the inuane

fu. a)p Love Twe ways that computars can help teacl

wrs teach a lesson. {2 marks}

B Give two ways that teachers could use a computer systeni (o send work electronically to students

who are absend rom a lesson.

{2 marks;

€ A supsrmark

ot mnakes use of barcodes on all its goods as part of its automatic stock conirol svstem
seribe how e price 15 found for each 1tem sold g

i (4 marks)



N\
O

>

d} The following are steps in the automatic stopRcontrol system. Number the steps in the
correct order. & (4 mnarks)

(RS s Rl |

- O\
. N
stock level < minimum gk level

Ty 3 Er -l@%
repoit printed out for &/ manager

'}by i S

stock leyei redu

yack 1o file

KN o I
mors itqef are srdered

e} Give three file %ﬁ?l&!;ﬁ&’!'ﬁ ent tasks thai are done by a computer operating system.
X

of

{2 marks)

- & a) Two methods of connecting to the internet are dial-up and broadband. Give two advantages ¢
nsing broadband. '

b)) Computers often use wireless (WiFi) technolegy to connect to the Internet. Give one advantage

and ene disadvantage of using WikFi (Z marks)



o

=are on her screen. She chooses t{sQ%nnﬁ:c:é {o the internat,

/o ways her computer system is proteg®d against 10ss or corruption of files once the

system is connceted to the Internat, @7 (2 marks)

X

<
128 ;5 s 5 : _ _
ity AN from switching off her machine, how could she ensure her computer system was secure
Phiist taking her regular break ? {1 mark)

b=

gy Give iwo reasons why video-conferencing is gaining in popularity. (2 marks)

28, A database showing the population of world cities has been produced. A section of the databas

win below,

Fses R : ' N
County Area City poputation (m) Urban population (m}_ﬁ()apltei‘
. Mapan Asia | 33.2 341 ves |

USA America i7.8 219 Mo ‘

N

Brazii America 7.7 e 20.2 no
5

S, Korea Asia 17.5 293 Yes
227 Yes

a

by Mexico America 17 .

4 .
& |Osaka Japarn |Asia 16.4 16.8 Mo !
Maniia  Phillippines [Asia 14.8 14.9 Yes

1]

| _
|8 Mumbai India Asia 14.4 19.7 No
{

i 9 |Jakaria indonssia  |Asia i4.3 & s _Yes
|0 |caleuta India Asia 12.7 15.6 No

a} How may records are shown above 7 {1 mark)
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=
which records would be toungdt the following search condition was typed 1

T Arca = CAmerica”) ﬂ\lﬁ% {Capital = “No™) {(Z marks)
’O'G)

L T ] B e ATV 2 TR . S L
1w a ity populalion greatey Huan 1)

re of using ¥ o PMoyather than Yeés or NOan the capital colun,

eb Usig twos camplinsnts compaiie the following :

iy e Hhe {3 marks)

an onvert the hexadecimal number 2AFCHY ¢ 10 ifs octal equivalent. {3 marks)
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